Extra Practice

Chapter 4
4.1 Write an equation of the line with the given slope and y-intercept.
1. slope: 3 2, slope: -2 3. slope: 5
y-intercept: 6 y-intercept: 4 y-intercepl:
4. slope: -1 8. !-:Inpu::! 6. slope: IT:]
JAIUCREE: =2 y-intercept: -5 y-intercept: 8

4.2 Write an equation of the line that passes through the given point and has
the given slope m.

7. (3L Bm=2 8. (-1,5;m=—4 9, (—6,3);m ‘i

4.2 Write an equation of the line that passes through the given points.
10. (2, 4), (5, 13) 1. (1, -2), (-2, 13) 12. (2, 1) (6,3)

4.3 Graph the equation.

13. y— 3= —3(x + 4) 4. y+5=-2(x 1) 15. y - 6 fj{x
4.3 Write an equation in point-slope form of the line that passes through the

given points.

16. (—4,2), (-2, 16) 17. (3,9), (=7, 4) 18. (10, =2, (12,
4.4 Write an equation in standard form of the line that passes through the given

point and has the given slope m or that passes through the two given points.

19. (2,7, m 4 20. (5,11),m=3 21. {1, =2), (-2, 4)
4.5 Write an equation of the line that passes through the given point and is

parallel to the given line.

22, (5,4),y=3x+5 28, (=3, =7), y= =5x5— 2 24, (8, ~3), y - :x b

4.5 Write an equation of the line that passes through the given point and is
perpendicular to the given line.

25. (-12, ~2),y =3x + 2 26. (15, ~11),y = 2x — 8 27. (7, 6),4x + 6y = 7

4.6 Make a scatter plot of the data in the table. Draw a line of fit. Write an
equation of the line.

28. 29, |

X |1 2 | 3 |35/ 4 /45| 5 X | 10| 20| 30 | 40 | 50

¥ | 20 | 35 | 40 | 55 | 60 | 45 | 60 ¥ |55 45 | 45 | 40 | 35

4.7 Make a scatter plot of the data. Find the equation of the best-fitting line.
Approximate the value of yforx = 7.

o x | O 2 | 4 ¥ 8 o x| O 1 3 b 8
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